
Họ và Tên: Lời giảiNhân phân số với số nguyên với dòng số

Toán Học vn.CommonCoreSheets.com 9 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Câu  trả  lờ i

1.

15⁄4 = 33⁄4

2.

6⁄5 = 11⁄5

3.

8⁄5 = 13⁄5

4.

15⁄9 = 12⁄3

5.

6⁄3 = 2

6.

6⁄4 = 11⁄2

7.

20⁄6 = 31⁄3

8.

8⁄6 = 11⁄3

9.

9⁄6 = 11⁄2

10.

32⁄9 = 35⁄9

11.

24⁄7 = 33⁄7

12.

16⁄9 = 17⁄9

13.

15⁄6 = 21⁄2

14.

4⁄7 = 4⁄7

15.

40⁄9 = 44⁄9

16.

8⁄7 = 11⁄7

17.

8⁄8 = 1

18.

10⁄6 = 12⁄3

19.

8⁄3 = 22⁄3

20.

12⁄9 = 11⁄3

Giải các câu hỏi.

1) 3⁄4 × 5 0 1 2 3 4

2) 3⁄5 × 2 0 1

3) 4⁄5 × 2 0 1 2

4) 3⁄9 × 5 0 1 2

5) 2⁄3 × 3 0 1 2 3 4 5

6) 2⁄4 × 3 0 1 2

7) 4⁄6 × 5 0 1 2 3 4 5

8) 2⁄6 × 4 0 1 2

9) 3⁄6 × 3 0 1 2 3

10) 8⁄9 × 4 0 1 2 3 4

11) 6⁄7 × 4 0 1 2 3 4

12) 8⁄9 × 2 0 1 2

13) 3⁄6 × 5 0 1 2 3

14) 2⁄7 × 2 0 1

15) 8⁄9 × 5 0 1 2 3 4 5

16) 4⁄7 × 2 0 1 2

17) 4⁄8 × 2 0 1

18) 5⁄6 × 2 0 1 2

19) 2⁄3 × 4 0 1 2 3 4

20) 6⁄9 × 2 0 1 2
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